NC Math 3 Reasoning with Geometry/Circles Review CP

1) GivenPQRSisa paralleiﬁram find the measure of angie £PSR.
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Exglai n how you know.
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2) | If aquadrilateral is a parallelogram, then Correct?
Each diagonal divides the paralielogram into two congruent triangles ]
( T /or F
o
Opposite angles are congruent (/T or F
- Py
Consecutive angles are supplementary CT/br F
The diagonals are congruent T orf{ F
oY
The diagonals bisect each other (ﬂf‘ or F
The diagonals are perpendicular T or @
3) Use the word bank to fill in the following blanks. You will not use all of the words and you may use words more than
once.
Word Bank:
Incenter Circumcenter Centroid vertex™ Vg tices
Side& Gravity Medians Perpendicular Bisectors
Circumscribed Inscribed Angle Bisectors Triangle -
a)
The angle hisectors of% riangle intersect at the ///) WW . This point is
equidistant to eaciy\ S I Mg of the triangle, and is the center of a(n) l ' 2 EX i/_f { @a
circle.
b} Perpendicular bisectors meet at the c, r oum @M/LW . This point is equidistant to each
\GLM_M-&' the triangle, and is the center of a C', MM SChy b@dircle.
c) The point of concurrency for the medians of a triangle is called the CWW,% . Itis the center of
for a triangle. It divides the _mms_into two segments whose lengths are in a ratio of
2:1.
4) Name the type of center of the triangle shown in the diagrams below. Explain how you know.
a) Name: Explanation:
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3)

1)

b) Name: Explanation:
Cueumesnter—H s
c) Name: Explanation:

Point T is the incenter of APQR.
Find the measure of UR. Show your work or explain your

mTU =18 b[o;—f’/s e radiils

% Qi4bA=(?
A 52+ b? =203
Point G is the centroid of AABC.

If AD=8, AG=10, BE=19, and AC=16, find the perimeter
of the triangle. Show your work or explain your

reasoning. D= 4+ 081318 +E

25 +b7 -

KWU,/Q.Q |

e @W@mﬂwam&

1S oimwvmmm arbund e Wm&

reasoning.
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7) Point O is the circumcenter of AMNP,

"

Find the measure of SO. Show your work or explain your
reasoning.

A bh?=

© oot b =%t
2@5 o b K =T18 24
2 b= 334.24 |
‘ k) = i% .3

Fill in the blanks below to make the statement true.
' y T Y
A tangent line to a circle is P’W’DC ﬂd M/(/(ﬁ%i to the radius drawn to the point of tangency.

C,{?{M /h/\/jbf &M{,{& angle is equal to the measure of its intercepted arc.
Y Lgeat

If two arcs of a circle are congruent then their corresponding central angle measures are 1*"’-«7«&?:}"—27.:

The measure of a(n)

A radian is an angle unit equal to an angle at the center of the circle whose arc is equal in length to the lzﬁ“jb
The difference between a secant and a chord is that a chord is a line segment while a secantis a E/MA_Q/

A(n) M %’/& M’E angle is half the measure of its intercepted arc. i
A circumscribed angle is 180 degrees minus the measure of its _@44()’/3(/0 )‘i('(»} 6/ /Ufa{/




Write the formula for each;

L0)

Complete the Ratio statements for each of the following:
a) Ratio for finding Sector Area: SZ/Mpr fheL

;g
a) Areaofacircle= l ] s
b) Circumference of a circle= SUTJ’

- /100-‘2' 7 . - |
wh b) Ratio for finding Length of an Arc: fﬂ/ﬁ:’— fﬂgﬂ%\

S

e 2.0y
¢) Ratio for a Central Angle in Degrees: _ﬁ_ d) Ratio for a Central Angle in Radians: &
360 £
L1} &) Find the measure of angle a and arc b. b) Find the measure of angle a and arcb. _ 20
d= f~ i tbhl IR d= qgo
hh AN 260
bt ; - 240
P \ } ———
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210¢ b= Q'D 76°\ § / b= i ZO ;
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2 (2047 = 947 5 2 i
12)  When assembling a chair Iike‘#nat shown here, the legs of the chair, DB and AC, are connected at their midpoints.

{E is the midpoint of AC and DB.)
Prove that AABE = ACDE.

1. , - — 1. Given ‘:
E i diu Midpoint £ IC & P
" o 2. Definition of Midpoint :
amAE =mEC
mbE = mi= B
. KC = EL Def ef Congrues
BPE =~ EB
&k 4. ) :
4, AAEBE < f’;_}D \/(2/]/’/2 Cﬂ(j ML%
o ; N 5. . - | i
£3)  a) Find the radius. b) PA and PB are P
_. W,: 1 tangents to circle O. e
‘§___ﬂ . { & i Find the measure of o
2 IR A 9 the intercepted arc i
%;., - i r1 Q indicated by x. R
% 5 % - 3 J - {@ - L}G:: 'g-fuu Tq%:;’ i
T2 e sSe* S1s By
r N X ) l : P x= l“/ﬂ
E ) ED aq&@"ﬁ are d) msRST =95 and ;
" tangent to circle C. Find 2 m8TU = 220.1,%':1 :
>0 the value of x. m/_SRﬂ= [l /'2
e | - | meRUT =__ 95
@3 Mogz_—c UR = |
Y ._a__% 2 5?5“ e T — " |
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14}  Use the word bank to name the term that best Waord Bank:

describes the notation below. Radius ‘/ , Central Angle Major Arc
Minor Arc v Tangent Line Diameter
1. AB é\/“ (/“i“f Mg/ Inscribed Angle v | Circumscribed Angle Chord

2. LAIE @[WW M‘é&’
3. LACE n/f,dh/ﬁﬂﬂ /‘}( Viﬁé
4. HG U(/f“ v 6 v

5. BE ?l/ﬁl/(/i @Mr
6. BDA M[WU( Mf/

8. £DBE }Y\WW/L%/}F /Q(W«dlé/ | | | ‘

15) Trlangle ABCis cnrcumscnbed about the circle. Find The radius of Circle C; = 26 in and the radius of circle C; = 10 in.
the perimeter of triangle ABCif ¢ =8 cm, b=9cm, The distance between the centers of the two circles is 43 in. ;
and c= 18 cm. . What is the horizontal length between the two points of ?

fangency? ﬂ 3 %b 01: C 2 ‘
L b =43
256+ b% - 349
h2= 1593 |

. Cenyf

‘3, 52(; i The radar beam sent out by an aeroplare reaches a distance of 120

kilometres and covers an angle of {50°. ) .
@ Jr( fﬁf' l
30 |

Hin° ] o
¢ !O_ 2 AT = |g.32
3 siars1882 - i
e
Bos T 2e TsY =21 tn? 33"%‘02
Caiculate the ares covered by the beam,

~ O Wi =5
8) a) Findthe radius b) Find the length of the major arc. c) Find the central angle in radians.
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